BASE BID - LOCATIONS 1-33

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	8,019	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, ramp, or curb including all incidentials for the sum of	\$18.00	\$144,342.00
2	426.75	CY	Unlcassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of _Tweleve	\$12.00	\$5,121.00
3	3	EA	Adjust manhole ring and cover per City of Allen standards, including all incidentials, sor the sum of Two Hundred Dollars & Cents per Each	\$200.00	\$600.00
4	31.50	SY	Construct 4 inch Class C, 3600 psi, reinforced concrete sidewalk paving, including all incidentials for the sum of Fifety FourDollars &NOCents per Square Yard	\$54.00	\$1,701.00
5	8	SY	Construct 6 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentials for the sum of Sixety TwoDollars &NOCents per Square Yard	\$62.00	\$496.00
6	1,865.50	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentials for the sum of _Sixety Five Dollars & No Cents per Square Yard	\$65.00	\$121,257.50
7	1,180	SY	Construct 8 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, including all incidentials for the sum of SeventyDollars &NOCents per Square Yard	\$70.00	\$82,600.00
8	2,402.50	SY	Construct 10 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentials for the sum of	\$68.00	\$163,370.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
9	2,170.50	SY	Construct 10 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, including all incidentials for the sum of	\$73.00	\$158,446.50
10	311	SY	Construct 8-4-8 inch Class C, 3600 psi, strength reinforced concrete alley paving, including all incidentials for the sum of Sixety EightDollars &NOCents per Square Yard	\$68.00	\$21,148.00
11	45	LF	Construct 6 inch high Class C, 3600 psi, reinforced concrete curb, including all incidentials for the sum of Twelve	\$12.00	\$540.00
12	4	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp, including truncated domed pavers and all incidentials for the sum of One thousand Five Hundered Dollars& NOCents per Each	\$1,500.00	\$6,000.00
13	. 1	LS	Furnish and install all pavement markings, along with all incidentials for the sum of Seventeen Thousand	\$17,000.00	\$17,000.00
14	909	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentials for the sum of TwelveDollars &NOCents per Square Yard	\$12.00	\$10,908.00
15	6	МО	For temporary portable arrow boards and all incidentials for the sum of One thousand Two hundredDollars &NOCents per Month	\$1,200.00	\$7,200.00
16	6	МО	For temporary portable message boards and all incidentials for the sum of _Three Thousand Eight HundredDollars &NOCents per Month	\$3,800.00	\$22,800.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
17	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including message and arrow boards and all incidentials for the sum of Thirteen Thousand Five HundredDollars &NOCents	\$13,500.00	\$13,500.00
18	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentials for the Lump Sum of Three Thousand Five HundredDollars &NOCents	\$3,500.00	\$3,500.00
19	1	LS	Mobilization, Bonds, Insurance and all Permitting (entire project), complete, for the Lump Sum of _Eighteen Thousand Dollars & NO Cents	\$18,000.00	\$18,000.00

TOTAL - BASE BID:

\$798,530.00

ALTERNATE 1 - LOCATIONS 34-44

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	4,301.50	SY	Saw, remove and dispose of existing reinforced or non-reinforced concrete street, alley, sidewalk, ramp, or curb including all incidentials for the sum of _Eighteen	\$18.00	\$77,427.00
2	113.50	CY	Unlcassified roadway or alley excavation including all clearing, hauling and disposal of surplus for the sum of	\$13.00	\$1,475.50
3	60	SY	Remove and replace vehicular brick pavers (4"x8"x2-5/8") to match existing in pattern and color, including sand bedding and all incidentials for the sum ofTwentyDollars &NOCents per Square Yard	\$20.00	\$1,200.00
4	65	SY	Construct 4 inch Class C, 3600 psi, reinforced concrete sidewalk paving, including all incidentials for the sum of	\$54.00	\$3,510.00
5	2,023	SY	Construct 8 inch Class C, 3600 psi, reinforced concrete street paving, including all incidentials for the sum of Sixety Three	\$63.00	\$127,449.00
6	327	SY	Construct 10 inch Class C, 3600 psi, high-early strength reinforced concrete street paving, including all incidentials for the sum of	\$74.00	\$24,198.00
7	1,863.50	SY	Construct 8-4-8 inch Class C, 3600 psi, strength reinforced concrete alley paving, including all incidentials for the sum of Sixty EightDollars &Cents per Square Yard	\$68.00	\$126,718.00
8	114	LF	Construct 6 inch high Class C, 3600 psi, reinforced concrete curb, including all incidentials for the sum of Twelve	\$12.00	\$1,368.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
9	10	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp, including all incidentials for the sum of One thousand four hundredDollars &NOCents per Each	\$1,400.00	\$14,000.00
10	1	EA	Construct 4 inch Class C, 3600 psi, reinforced concrete barrier free ramp, including truncated domed pavers and all incidentials for the sum of One thousand four hundredDollars &	\$1,400.00	\$1,400.00
11	1	LS	Furnish and install all pavement markings, along with all incidentials for the sum of _Two Thousand Dollars & Cents	\$2,000.00	\$2,000.00
12	988	SY	Furnish and install block sodding (match existing type), including 4 inches of top soil and watering until established, including all incidentials for the sum ofTwelve	\$12.00	\$11,856.00
13	2	МО	For temporary portable arrow boards and all incidentials for the sum of _One thousand two hundredDollars &NoCents per Month	\$1,200.00	\$2,400.00
14	2	МО	For temporary portable message boards and all incidentials for the sum of Three Thousand Eight HundredDollars &NOCents per Month	\$3,800.00	\$7,600.00
15	1	LS	Traffic Control for single lane closure of arterial or collector roadways, including message and arrow boards and all incidentials for the sum of Five Thousand Dollars & No Cents	\$5,000.00	\$5,000.00
16	1	LS	Erosion Control for all disturbed areas, including inlet sediment barriers and all incidentials for the Lump Sum of One thousand	\$1,000.00	\$1,000.00

TOTAL - ALTERNATE 1:

\$408,601.50

PROPOSAL SUMMARY

	TOTAL BASE BID	\$798,530.00	
CALENDAR DAYS BASE BID: 200 Days			
	TOTAL ALTERNATE 1	\$408,601.50	
CALENDAR DAYS BASE BID: 100 Days (Alternate Bid)			
	TOTAL BID	\$1,207,131.50	

notice to commence work subject to such extensions of time as are provided by the General and Special Conditions.

The work proposed to be done shall be accepted when fully completed and finished in accordance with the plans and specifications.

In the event of the award of a contract to the undersigned, the undersigned will furnish a Performance Bond and Payment Bond for the full amount of the contract.

The undersigned certifies that the bid prices contained in this proposal have been carefully checked and are submitted as correct and final.

NOTE: Unit and lump sum prices must be shown in words and figures for each item listed in the proposal and in the event of discrepancy the words shall control.

Receipt is hereby acknowledged for the following	g addenda to the contract documents:
Addendum No. 1 dated Addendum No. 2 dated 613	17 Received 6/1/2017
Addendum No. 3 dated	Received 6 7 2017
Addendum No. 4 dated	Received Received
Addendum No. 5 dated	Received
their firm, that they have read this entire bid proposal pack	endorsement of same, represents that they are authorized to obligate kage, is aware of the covenants contained herein and will abide by be considered as being responsive only if entire Bid Package plus
	Total Amount Bid: \$ 1,207,131, 50
	Total Days Bid: 200 (base bid)
	Saz Global Inc dba Saz Infrastructure
	Contractor
	By: Sabeel Fatehdin
	(please print name) Signature:
	Title: $G \cdot M$.
Seal and Authorization (If a Corporation)	P.O.Box 797822
	Dallas Dallas TX 75379 City, County, State and Zip
	469-500-3232 449-547-2264
	Telephone Fax No.
	E-Mail Address: 5929/oba/22@gmail.com